Kplus Data/RC 0.5<y<1.5

Data/RC
P
=

®

o

-2|

Kplus Data/RC 0.5<y<1.5

5 3 3.5
Py GeVic

Kplus Data/RC 0.5<y<1.5

-1

1 1
0.5 1 15 2 25 3 3.5
p, Gevic

Kplus Data/RC 0.5<y<1.5

Data/RC

0.8]

0.6

0.4

0.2

Kplus Data/RC 0.5<y<1.5

—|—4_~‘
E——t ]

==

[P |
.5 0.6 0.7 0.8 0.9

Lovabisaibessilongl
1 111213 1415
y

Kplus Data/RC 0.5<y<1.5

0.5]

107

—1.6

5 06 07 08 09 1 1112 13 1415
y

Kplus Data/RC 0.5<y<1.5

Kplus Data/RC 0.5<y<1.5

-

Kplus Data/RC 0.5<y<1.5

107

Data/RC

Kplus Data/RC 0.5<y<1.5




	Contents
	Page 1


